Assignment
Solve each equation.

1) |-5-4x| +9=-40

2-5b]
=

3

3)

5) |2-3x| +4=24

|8x + 7|
RRSAR R |
4

7)
9) 6|5a+7| =102

11) |3a+ 6] —7=20

|5x+5]
=

3

13)

15) -2+ [9m—3| =58
17) 5|n—4| =35
19) |-9r -4 +5=-26

|8 —4b|
21) -1y

23) [x-5|-7=—6

Name

ID: 1

Date

Period

2) —3|-n-4| =45

4) 9+ |3r-5/==2

6) 3—|7-6n| =—26

8) 6/4+7v|=0

10) 9+ [3+6x| =9
12) ~4|k-1]=-8

14) |-8n+5|-8=3

16) 10[8 +6p| =100
18) —8|-5—4x| =-72
20) [sv-5]+2=12

22) |-3n-5|-5=3

24) —10]a+ 8| =-60
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Answers to Assignment (ID: 1)

1) No solution. 2) No solution. 3 {_2’4} " {4,%}
o [o%] A A

) {2,_%} 10) {_%} 11) {7,-11} 12) {3, -1}
13) {2.-4] 14) {—%,2} 15) {7,—13—9} 16) {é —3}
17) No solution. 18) {_% 1} 19) No solution. 20) {3, -1}
21) {0, 4} 2) {_13_3 1} 23) {6, 4} 24) {-2,-14}
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Assignment
Solve each equation.

|4+7k|
1) ———==2
8

3) 5—|7p-10| =85
5) —7|2m + 6| = 14

p Noxs6|
3

9) 3|6-3x| =63

2n-4|
e

2

13) —6|-3 - 5x| =42

15) |8r—3| -5=6

17) |-2v-4] —9=-1
19) -5+ |2p+7| =18

oy 168K,
3

23) 4|2m+7| =108

Name

ID: 2

Date

Period

2) 10+ [8x+7|=7

4) |5+7|+4=4
6) |5+5n| +2=12

8) 6 [9-3b| =—12

10) -9|10+6p| =-72

[10-4a|
=

1

12)

14) 9— |-7x - 4| = =50

|8n—1|_

16) 2

18) -8 — |10+ 7x| =-18

20) [8+7n| +2=73

22) |6+6r| _3

|x+6| B

24) 5
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Answers to Assignment (ID: 2)

1) No solution. 2) {2’ _3} 3) No solution. 2 {_2}
5) No solution. 6) {1,-3} 7) No solution. 8) {—37,9}
9) {-5,9} 10) {_% _3} 11) {11, -7} 12) {1, 4}
13) {—2,%} 14) {—9,75} 15) {%,—1} 16) {%—%}
17) {-6,2} 18) {o,-ﬁ} 19) {8,-15} 20) {9,_Q}
21) {_g_%} 22) {2, —4}7 23) {10, -17} 24) {29, —11}
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Assignment
Solve each equation.

1) [sn-2| +4=27

3) —8|8 —3x| =80

5) -8|6v—7| =8

7) 22— |-7Tp-4| =-55

9) —4|—4 —4x| =80

|8+8m|
11) ——=1

13) |-sx+8|-2=11

15) 8|-2+7n| =40

17) |4x+6] —2=32

19) [8-2n|+7=15

Name

ID: 3

Date

Period

2) 10— [2b-2| =-8

g 13l

10

6) -5+ |7a—4| =26
8) |10k—4| +7=23
10) 1+|5n+3|=29

12) 5+ |4+8p|=-55

14) 6|2b+7| =78

g 1327
10

18) |5-2a| +9=20
20) —3|2v-2| =54

22) |7-3n| -3=4

24) |10k—3| =3 =30
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Answers to Assignment (I1D: 3)

D {5’_£} 2) {10, -8} 3) No solution. " {%_2_7}
5) No solution. 6) {51_2_7} 7 {_217} 8) {21_§}
7 7 5 .
9) {-6,4} 10) {51_2} 1) {_11_1} 12) No solution.
5 4 4
13) {—1,£} 14) 13,10} 15) {1,—3} 16) {ﬁ,—ﬂ}
5 7 7 7
17) {7, -10} 18) {-3, 8} 19) {0, 8} 20) {10, -8}
21) {_2,3—7} 22) {o,ﬂ} 23) {3—5,_§} 24) {E, _3}
3 3 3 3 3 5
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Assignment
Solve each equation.

1) [9+9m|+9=-27

3) —6/8p — 4| =-120

5) |5+ 8x| —4=-33

|—6b + 7|
s
8

7)
9) 10|-2+8n| =-100
11) —5— |10n—1| =84
13) 6|4k —2| =-12

15) 2+ |3x-2| =0

17) |-1-2¢] — 4

|7+9x| _

19) 4

21) —10 + |8 +9b| =70

23) —7|-6x + 8| =28

'ﬂ@ B
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ID: 4
Name

Date Period

2) 6|5+9x| =24

PELEL)
4
6) 7+ |-9r+8| =42

5+7v]
s

8)

10) |2x+7|-10=3
12) |-2a-10| -2=-18
14) [5n-3]-1=36
16) |3m-3| -5=7

18) 2|10r - 3| =106

20 178090

22) |-9+9r| —9=-9

24) —9|3n + 8| =—45
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Answers to Assignment (ID: 4)

1) No solution. 2 {_l 1} 3) {3, -2} 4) No solution.
o
5) No solution. 6) {_3,%} 7 {_%4?7} 8) No solution.
9) No solution. 10) {3, -10} 1) {8,—£} 12) No solution.
13) No solution. 14) {8,—%} 15) No solution. 16) {5, -3}
17) {—H,E} 18) {ﬁ, —5} 19) {é,—ﬁ} 20) {—2,2}
2 2 5 9 3 8 8
21) {s_ﬁ} 22) 1) 23) {3,2} 24) {_1,_2}
9 3 3
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Assignment
Solve each equation.

1) 6+ |5x—1| =-67

3) -3 - |-4x—1|=-12

5) 4|-1+8n| =68

-1-2p| _

7) p

3

9) |8—2n|-9=-7

11) —8|5r—3| =-104

13) [4n+10] -5==3
15) |10v+9] +2=11

|5+9n|
17) ——=4

19) |-8p+4| -3=31
21) |-4-x|-7=7

sm-1]

23) 2

Name

ID: 5

Date

Period

2) -6+ |7+8v|=9

g 110a+8[
3

A | -5k — 1| s

) o =

8) 4+ |10x—2| =26

10) 7|5-3m| =112

|1+ 10|
3
10

12)
14) 8+ |8 +9b| =9
16) —5|8x+9| =35

|a+8| B

18) -3

20) |10k +8| +4 =36
22) 5|-8-n| =90

24) 8+ |5-r| =12
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Answers to Assignment (ID: 5)

1) No solution. 2) {1’_2} 3) {_2’2} ) {L _1_7}
. 4 2 100 10

5) No solution. 6) {_ﬁﬁ} 7 {_EH} 8) {E _2}
5'5 2" 2 5

) (53] ) {-117) w [16,2] 2 [2,31)
30 100 10

13) {-2,-3} 14) No solution. 15) {0,_%} 16) {_i’ _2}

17 {%_g} 18) No solution. 19) {-10, 11} 20) {15_2 _4}

21) {-18, 10} 22) {-26, 10} 2) {g 19} 24) {1,9}

e
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Assignment
Solve each equation.

1) |-2n-2|+10=28
3) —7+ |2x-2| =-33
5 LLr10x]

5
7) 2-|sa+10| =-38

9) 6|10x+9| =66

11) |-8p-10| +1=91
13) |10 +8k| + 6 =48

15) 10+ [2+9n| =6

17) |-6x— 1| +5=12
19) |-2-n|+4=9
21) |2-10x| +1=39

23y 16v=10]
4

Name

ID: 6

Date

Period

2) —4|b-2|=12

|-3r - 10
=3

4) p

6) |8n+ 10| -3 =55

8) 10— |2v+9| =-11

LU

12) 9+ |6n+9] =60
14) |6x+5|+5=42

16 | 10m—1] »

18) -3+ |-10-r| =3
20) —2|-7-2b| =-18
22) |7+10a| -4=-57

24) [3n+3]-3=3
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Answers to Assignment (I1D: 6)

1) {-10, 8} 2) No solution. 3) No solution. " {_ﬁ §}
3'3
5) {g,_g} ) {61_1_7} 7) {6,-10} 8) {6, -15}
5 5 . 2
9) No solution. 10) {_i _i} 1) {_2_51 10} 12) {7,-10}
10 2 2 _
13) {4’_2} 1) {E _7} 15) No solution. 16) {i_l}
2 3 10 10
17) {_g’ 1} 18) {-10} 19) {-7, 3} 20) {-8,1}
21) {—E,4} 22) No solution. 2) {% 1} 24) {1,-3}
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Assignment
Solve each equation.

1) 10|3k+ 10| =110

3) —10+ |6n+9| =11

5) [2+m|+5=16
7) 8|7+ 9x| =56
9) 5— [8b—3| =—56

11) |-10-v|-1=0

13) 2[3n—-1] =22

15) —10 + |5 10x| =85

17) 9— |-4x—-10| =9

19) —4+ |8n+9| =4

21) 2|8 + 10x| =24

23) —3—[5+m|=-14

Name

ID: 7

Date

Period

p 12494

PRI

6) -8 — |-9—7n| =-8
8) 3[3r+5|=30
10) |-6x—1]|-5=18

|a+7| B

12) 4

way 170100

16) |-n—10|+7=10
18) —9|-5k+ 10| =0

20 2P+ 100

22) 3|2+r| =24

24) —2|8x+1| =-110
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5) {9,-13}
29

0 f1.-2]
10

13) {4, —?}

"

2 )

Answers to Assignment (ID: 7)

2 1)

22) {6,-10}

2 gagsgs path-wersheeh.ory

3) {2,-5}

7y fo-14)
11) {-11, -9}
15) {-9, 10}

0 1)

23) {6, -16}

)12
. (£

12) {29, —43}

16) {-13, -7}

math-worksheet.org



Assignment
Solve each equation.

1) 3|4n—10] =-18
3) |ox+3|+3=87

2 —-9a
5) =5
10

7) |9k-9] -5=4

o 157210 _,
10

11) 5/9—-10m| =5
13) |1+2b| -7=—4
15) |2+ 10x| +4=12
17) 5]4v+1| =35

19) =7+ |5a+ 1] =—56

21) —6[3v-5|=-6

23) —9|10x + 4| =54

W2l gegsgs math-veerhsheet.oryg

ID: 8
Name

Date Period

2) 8|7b-6| =104
4) -8 —|10-2v| =-18

6) —9|5n— 1] =-54

8) -8+ |-8-9p|=63

10) =5|-9 - 10n| =95

12) |-5x—10| +2=32
14) |10n+10| -2 =48
16) |9+n|+8=17

18) 1+ |x—10]=-15
20) |10x+8] +1=109

sn—9|
==

22) 2

24) |9k -9] -3=33
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Answers to Assignment (I1D: 8)

1) No solution. 2 {%’_1} 3) {9’_23_9} 4) {0, 10}
A B e o 0 {-57)
3'9 5 9
9) {6,-10} 10) {_15_4 1} 1) {% 1} 12) {-8,4}
13) {1, -2} 14) {4, -6} 15) {3,_1} 16) {0, -18}
17) {3, _2} 18) No solution. 19) No solution. 20) {10’_§}
21) {2,i} 22) {1—7,1} 23) {l,—1} 24) {5,-3}
3 5'5 5
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Assignment
Solve each equation.

1) 5/3n-10] =50
3) 10— |6x—9| =61
5 [lom—1to|
3
7 |-3n+2|+9=38

9) —6]6+2v| =-72

11) -3+ [10x+1| =3

17) 9 |4—7r| =8
19) 2|8x - 9| =94

21) |-7-10x| -8=19

Name

ID: 9

Date

Period

2) 2-|-8-9p|=-44

|8r—10]
B Tk

4) 5

6) |-7-10x| +6=59

8) 9|1+ 2b| =45

|3x+2| B

10
) 8

3

12) [2+k| +8=19

14) |8a+1|+5=68

|5—8n|

16) -5

18) |3m-8|-1=6
20) 8|5-9n| =0

22) 3

23) =10+ |-10v— 10| = 50 24) —7—|4n+3| =-38
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Answers to Assignment (I1D: 9)

20 38
b {2.0) 2 6.2
11 1 23
54 0 (o5}
9 {3,-9} 10) {2_&}
3 3
23 31
13) {?, —9} 14) {T’ —8}
13 1
17) {—7,3} 18) {5,5}
o [-7.2] 2 [-52)
5 9 9

2 gagsgs path-wersheeh.ory

3) {10, -7}

) (73]

8) {2, -3}
12) {9, -13}
16) No solution.

i

17
20 -]
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Assignment
Solve each equation.

1) -4]3 - 5a| =68
3) -1+ |—5+2x| =0

5) |-n+1]+3=3
7) 2|2k + 1] =30
9) [8-8n|+3=19
11) -9|8x—9| =-63

13
) 10

3

15) |10v-9| -8 =8I
17) 2|2a+3| =30

-ak+3]

19) | :

21) |-2n+2|-7=7

PR

W2l gegsgs math-veerhsheet.oryg

ID: 10

Name
Date Period
2) |5x + 2| _
6
|8k + 2]
4) =3
4

6) —8|—2p+1|=-8
8) -3+ |3+5x| =0
10) |2-38r| —6=20
12) |6m-8| -9 =-1

|7b—9| _

14) 2

16) |9 - 10x| +3 =42
18) —5|6x+3| =45

20) |[-9p+2|+4=69

22) 4|9 +2m|=-52

24) 1-|-5+2x| =24
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9) {-1,3}

13) {13, -7}

17) No solution.

21) {-6, 8}

A dsss-mabh-werhsheeh.ory

Answers to Assignment (ID: 10)

2 fo- ]
6) {0, 1}

0 {=.2)
1 f5.-2]

18) No solution.

22) No solution.

3) {3,2}

7) {7,-8}

23) {14, -26}

8
12) {? o}
24
1 2]

20) {_7, ﬂ}
9
24) No solution.
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